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(1) 1G bytes = _______ M bytes = _______ K bytes = _______ bytes

(2) 17.6875 = ( o = (o Yo = (e hs
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PRIBZEd: (10%)
(1) VAN (value-added network)

(2) DDP (distributed data processing)
(3) DAM (direct access methold)

(4) multiprocessing

(5) odd parity check

WIS A A 5N RE 53-42 B 42-53 2 {H? (10%)

filgg " Bi" (Interrupt)? SMAMEMH, XZXH—BEZHEAE Interrupt ZH?
# Interrupt ERANF, FREABKMITEEZ? (10%)

B3 BN K" (Open System)? FUBLEUIE Open System Z W&o (10%)

(1) {783 "ZBRE" (Data Base)? BRI ML

(2) e "EHRBEEIRAB" (Data Base Management System)? FJ&: — @ L 2E8x 887
(3) MY "ERE R "ERRBEEFEARL" Mk, (15%)

AR B AL (Data Conmunication System)? HEAWMZ HBH F7
31 &4 7 40 40 BL TH M0 1R 0 (10%)

BRERES LY, ZHRFR, EPRBE XHF S HEH, RBYHF 7 @,
B L H 10 f8; FH 5 18l Processes tFFLRE, KENFERAHERINT:
B i B M BA®R KB
7 K
X Y Z X Y A
P1 1 0 0 5 3 7
P2 0 0 2 2 2 3
P3 0 2 3 0 2 9
P4 1 1 2 2 2 2
P5 0 2 0 3 3 4

A (1) BRRLRE (TBATEERR) ZBFERITRERM?
(2) BICEERBZBERUTREAM? (10%)




